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Ml!nh inm.ﬂn'llm (MCQ's)
Choose the correct answer for oach form the given options:
The function defined by f(x) * |x| ls callnd:.
(a) Rational function-  (b) Donmm function (o) Circutar function
(d) Modulus functian '
Thefunction R — % bodmdbyf(x)lv - la
(a)An even function (L)Anodd hmnﬂon (¢) Nolther even nor odd

(d)None of these
1
(g -
(a)® (b)©o (€) = (1 '
- 3 -
v x o ;
(a)e (b}in3 {c)log.3 (d) =

The polnt of concurrence of the internal bisectors of the angles of a traingle is called

(a) Centriod (b)Circumcentre  (c)incentra  (d) Ortho centre
The Inchination of al ine parallol to x - axis is:
(8)0 (b)80- (c)45 (d)30

The distanco botwoon (-2 1) and (8, 4) Is :
(a) % m)n ©)13 (d)15

The angle between the lines represented by 3ic + Txt + 2y = Ols:

@y  O% @ (@ Y4

dy

fy=a, then e
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(a)% e () 57 m @ yins @Oé/
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@use O3 @y e '{‘
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@ "L o ppnxve  (@nnree (@) v
The contra ofthe circla (x +2) + - » 25 a:
8)(0,0) (0)(©,-2)  (6){-2,0)  (d)(-2.5)

7
Lengtn ofthe somil atus retum of the ellpse 5 fr
@22  (bbla) bl (d)ba’
The ecentricity ofa rectangular Hypubola is! 1
(a)1 (b)2 (@ 7 @ 3




(xvl)  Theradiusof thociecko x* +y* + 2y +c w0 I8

@ETFT O o @peT e @ FTFre

(xvll) Theunitvector of a vector (3m -2, 7} la:

@) gl:;szp 7K b) Slfzﬂlf % (C)Sifz +7k (d)‘“'l + K

(xvili) Ifa=3i_xj+2kandb=4i+ 3K are perpendicularthenx =
(@) 187 (b)2/3 (©)3 ()6

(xix) The focalradius of the point (a, b) on thie parabola x = 4xy equai to:
@)a-bl  ®latbl  (@b<l (@) -2-l8+bl

pog J, ™ sin2xdx
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Section-B

OM\onon
1when xeR-Q

Mncuonm{dmeron.mnorom.mmmeunoooﬂ
Q3 Thepoints, and anmomldpohhoﬂhnldudahhngh Flndmvum

1= 2:]
1-3x

Q.5 - Prove that diagonals of an isosceles lrapezold are aqual,

Q6 Usedifferentitals , approximate tan 46,

Qv Flndmofounththhopamlolomfomdbympoinbﬁ -2)*1,0) and (2,
1)

QA Showthat an squilatersl Mnnoln has congruant angles.

Q.9  Find the tangents of the lmodmmnwhmvmml«u 1)B(-1,3) an

Q2  Afunctionf: &t b8, a.amabynx)-{ then prova thatthe

Q4 Evaluate ,_.,,(

C(-5.2),
Q.10 Evaluat L:.‘:T? @O,
€0 olve the different equation 4 + 3y’ <!v_“ 2, whony(O)-O b
212 Flnamesquanono«mocsmnmucunobomnnammdmrlunamﬂ)n'mm
and fourth quardrants. {
L_" : —_—
.13 ItIk.oolxdx-d. find k? QO/O

2,14 Forwnutvnlu.ap,donnvocimxu.ﬁmnd -7'»73 are coplanar,
Section-C
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1y’ a1 Y .‘3!.. =
(a)!ly-.(s )" provethat ¢ ’('dx’ e 2=0

Flndtrnvoduupomnpaullobplpodm"nmw:- WAk v kK,
weiT41

- Findthe mv;mofmzfmdmmm () Find [ >
(a)A Ilne - intercpet is 1 less than Its x-intercept forms with the coordinate
axesath area 6 squae unils, What s its equation?’

Use dlﬂeidmlluh‘lu fnd g w,lmve value ol cot 88
(a)Provommhotwocim +2gx4 o= andf’ +f#?fyi-r-
touch each other if, t o =i
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